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go figure

Pascal’'s Triangle =

In the beginning, there was an infinitely long row of zeroes. And somewhere in the midst of
these zeroes there was a lonely 1.
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To this long row was applied a certain rule:

That wasn’t exciting enough, so the rule was applied to the new row that had just been
generated.

At this point, all those zeroes are getting in the way. So let’s make them invisible.
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1 3 3 1

There, that's much easier to see. Remember, we haven't gotten rid of the zeroes; we've just
hidden them so we can focus on the interesting part.

Continuing the pattern for a few more rows — with each number in the new row being the sum
of the two numbers above it — we get:

1 5 10 10 &5 1
1 6 15 20 15 6 1
1 / 21 35 35 21 7

If we continue this on to infinity, we get a structure known as Pascal’s Triangle.
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1T 5§ 10 10 5§ 1
1T 6 15 20 15 6 1
1 7 21 35 35 21 7 1
1 8 28 56 70 56 28 8 1
1 9 36 84 126 126 84 36 9 1
1 10 45 120 210 252 210 120 45 10 1

This curious construction has some very remarkable properties, as discovered by the French
mathematician Blaise Pascal (for whom the triangle is named). Let's start with the basics...
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